
SAP ABAP table T8J1D {Cost Centre Intercompany Cutback Rule}

T8J1D

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

INTCOCD [CHAR (4)]

CCFROM [CHAR (10)]

CCTO [CHAR (10)]

CCCUT [CHAR (10)]

CSKS

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

KOSTL [CHAR (10)]

DATBI [DATS (8)]

 T8J1D-CCCUT = CSKS-KOSTL 

0..N

{0,1}
 T8J1D-CCFROM = CSKS-KOSTL 

0..N

1  T8J1D-CCTO = CSKS-KOSTL 0..N

{0,1} T000

MANDT [CLNT (3)]

 T8J1D-MANDT = T000-MANDT 

0..N
1

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 T8J1D-BUKRS = T001-BUKRS 

0..N

1

 T8J1D-INTCOCD = T001-BUKRS 

0..N

1


